CURRICULUM COMPENSATION

I. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Ciotti, Ryan

Moore, Lori

Fox, Kathleen

II. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 18, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Foster, Carmelita

Moore, Lori

III. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 16, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Constant, Ashley

Hayes, Stacey

Furkin, Ruth

IV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES DECEMBER 10, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Anderson, Annaelise Garman, Jeffrey
Barrett, Caitlin Lenhardt, Kyle
Biggs, Brian Martin, Alexandra
Cecil, Katelyn Raymond, Christopher

Copp, Deborah Scott, Tyra

Craig, Jonathon Selsor, Michelle

Dwyer, Stephen

V. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BENCHMARK PLANNING ACTIVITIES SEPTEMBER 3, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-1300-1341-531-5)

Moja, Julie

VI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LAKETOWN ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 7, 2024, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-1300-1341-531-5)

Cantrell, Kenda Malenfant, Melissa

Cripe, Jill Moja, Julie

Hummert, Julie Robinson, Sarah Lafountain, Taunja Vogt, Denise

Madonia, Melinda

VII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES OCTOBER 15, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Garrett, Olivia

Thomas, Sarah

VIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES OCTOBER 8, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Garrett, Olivia

Thomas, Sarah

IX. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES SEPTEMBER 24, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Garrett, Olivia

Thomas, Sarah

X. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES SEPTEMBER 17, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Detmers, Erica Garrett, Olivia Thomas, Sarah

XI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES SEPTEMBER 2, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Bradley, Meridith

Thomas, Sarah

Garrett, Olivia

XII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW SCHOOL IMPROVEMENT CO-TEACHING PLANNING ACTIVITIES SEPTEMBER 6, 2024, \$36.99 PER HOUR, .75 HOURS FOR A TOTAL OF \$27.74 EACH: (10-2210-4331-1341-534-5)

Garrett, Olivia

Thomas, Sarah

XIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES AUGUST 29, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-1900-1341-531-5)

Armbruster, Justin

Schurman, Jennifer

XIV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES SEPTEMBER 4, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-1900-1341-531-5)

Damery, Brent

Russell, Denni

XV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 14, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-1900-1341-531-5)

Armbruster, Justin

Schurman, Jennifer

XVI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 7, 2024, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48 EACH: (10-2210-1900-1341-531-5)

Damery, Brent

Russell, Denni

XVII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2300-1341-531-5)

Dockter, Emily

Rhodes, Lindsey

Eucker, Hannah

XVIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 17, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

XIX. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 16, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Sharpe, Jennifer

XX. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Sharpe, Jennifer

XXI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2600-1341-531-5)

Deaton, Jacqueline

Gallina, Maria

XXII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

XXIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Sharpe, Jennifer

XXIV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 06, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Romadka, Bryan

XXV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 6, 2024, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-2600-1341-531-5)

Deaton, Jacqueline

Gallina, Maria

XXVI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 12, 2024, \$36.99 PER HOUR, 3 HOURS FOR A TOTAL OF \$110.97 EACH: (10-2210-2600-1341-531-5)

Sharpe, Jennifer

XXVII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES DECEMBER 12, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXVIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL ASSESSMENT PLANNING ACTIVITIES DECEMBER 17, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-531-5)

Duke, Karen

Gebhardt, Emily

XXIX. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2024, \$36.99 PER HOUR, .5 HOURS FOR A TOTAL OF \$18.50 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Hughes, Lindsey

Gebhardt, Emily

XXX. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES DECEMBER 10, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Hughes, Lindsey

Gebhardt, Emily

XXXI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Hughes, Lindsey

Gebhardt, Emily

XXXII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES DECEMBER 05, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXXIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES DECEMBER 13, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-3200-1341-535-5)

Israel, April

Martin, Bailey

XXXIV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES DECEMBER 17, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Burke, Evan Noll, Meghan Jones, Theresa Parks, Victoria Lantz, Andrew Piper, Riley Lee, Sabrina Schaver, Maire

XXXV. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES DECEMBER 17, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Donaho, Kimberly Lessen, Kelsey

Hampton, Bobby

XXXVI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 16, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Durbin, Lori Roark, Heather

Nestler, Tena

XXXVII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT FACE PLANNING ACTIVITIES DECEMBER 12, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Dunn, Andrea Langen, Natasha

Durbin, Lori Roe, Katie

Finney, Elizabeth Shirley, Gabrielle House, Mikaila Woodside, Alexis

XXXVIII. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES DECEMBER 9, 2024 THROUGH DECEMBER 18, 2024, \$32.26 PER HOUR, 22 HOURS FOR A TOTAL OF \$709.72 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

XXXIX. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2024, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Archey, Heather K	3.00 Hours	\$110.97
Gibbs, Katie	3.00 Hours	110.97
Romer, Gina	3.00 Hours	110.97
Whitlock, Julie	1.50 Hours	55.49

XL. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES DECEMBER 16, 2024, \$36.99 PER HOUR, .75 HOURS FOR A TOTAL OF \$27.74 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K Romer, Gina
Gibbs, Katie Scott, Kelly
Harrison, Maggie Silveri, Tracy

Montooth, Jennifer Ziemba-Montavon, Tammy

Rawls, Nicola

XLI. RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 1, 2024 THROUGH DECEMBER 5, 2024, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Brinkmann, Kristen	5.00 hours	\$66.11	\$330.55
Clark, Abigail	5.00 hours	57.30	286.50
Clark, Michelle	3.00 hours	78.78	236.34
Corley, Elizabeth	4.50 hours	73.24	329.58
Cruz, Brittany	5.00 hours	63.17	315.85
Deatherage, Debra	5.00 hours	67.86	339.30
Dwyer, Stephen	5.00 hours	69.60	348.00
Fenstermacher, Lori	5.00 hours	78.78	393.90
Foster, Jennifer	4.00 hours	58.78	235.12
Groesch, Erica	3.00 hours	78.78	236.34
Holderread, Brooke	0.75 hours	60.23	45.17
Hummel, Emily	5.00 hours	73.24	366.20
Hussein, Samira	2.00 hours	60.23	120.46
Kim, Whitney	5.00 hours	78.78	393.90
Lanter, Lindsey	5.00 hours	64.96	324.80

November Medicaid Billing Activities November 1, 2024 through December 5, 2024, Specified Rate Each, cont.

Marcum, Stacie	3.75 hours	61.00 Per Hour	228.75
Mcdaniel-Norton, Stacey	4.50 hours	77.67 Per Hour	349.52
Mitchell, Daj'Za	5.00 hours	45.54 Per Hour	227.70
Moore, Carolyn	3.50 hours	69.60 Per Hour	243.60
Naumovich, Amanda	5.00 hours	75.46 Per Hour	377.30
Plummer, Kahla	4.50 hours	68.06 Per Hour	306.27
Rehn, Megan	4.50 hours	47.01 Per Hour	211.55
Reitz, Laura	5.00 hours	69.60 Per Hour	348.00
Roe, Katie	3.00 hours	75.46 Per Hour	226.38
Rouland, Jill	3.25 hours	67.58 Per Hour	219.64
Sanberg, Kathryn	5.00 hours	55.83 Per Hour	279.15
Sapetti, Camryn	2.50 hours	45.54 Per Hour	113.85

XLII. RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 4, 2024 THROUGH DECEMBER 5, 2024, FOR RATE SPECIFIED: (10-2210-6220-1165-000-0)

Albaugh, Jenna	3.50 hours	\$62.33 Per Hour	\$218.16
Blakley, Jennifer	0.50 hours	46.33 Per Hour	23.17
Jose, Bethany	4.50 hours	34.79 Per Hour	156.56
Nelson, Tara	5.00 hours	70.56 Per Hour	352.80
Short, Anne	5.00 hours	37.01 Per Hour	185.05